Functional Analysis, Approximation and Computation 9 (2) (2017), 11–19



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/faac

On Wavelet Approximation of a function by Legendre Wavelet Methods

Shyam Lal^a, Vivek Kumar Sharma^b

^a Department of Mathematics, Institute of Science, Banaras Hindu University, Varanasi-221005, India ^b Department of Mathematics, Institute of Science, Banaras Hindu University, Varanasi-221005, India

Abstract. In this paper, two new wavelet estimates for a function f having bounded second derivative and bounded M^{th} derivative are obtained by Legendre Wavelet Method.

1. Introduction

At present, the approximation of a function by Fourier series method is at common places of analysis. Wavelet approximation method is a new tool as well as recent trend to detect and analyze abrupt change in seismic signal processing. The wavelet approximations of certain function by Haar wavelet have been determined by several researcher like DeVore [1], Debnath [2], Meyer [3], Morlet [4, 5] and Lal and Kumar [6]. But till now no work seems to have been done for wavelet approximation of a function by Legendre wavelet methods. In an attempt to make an advance study in this direction, in this paper, the wavelet approximation of a function f with $0 \le \sup_{x \in [0,1]} |f^{(2)}(x)| \le A < \infty$ and a new Legendre wavelet estimate for

a function *f* with $0 \le \sup_{x \in [0,1]} |f^{(M)}(x)| \le B < \infty$, where *M* is the positive integer, have been obtained. It is

important to note that estimate of a function is better and sharper than the estimate having less bounded derivative, so the comparison of estimated approximations has significant importance in wavelet analysis.

2. Definitions

2.1. Legendre Wavelets

In recent years, wavelets have found their ways into many different fields of science and engineering. Wavelets constitute a family of functions constructed from dilation and translation of a single function called mother wavelet. If $\psi \in L^2(\mathbb{R})$ satisfies the 'admissibility condition'

$$C_{\psi} = \int_{-\infty}^{\infty} \frac{\left|\hat{\psi}(\omega)\right|^2}{\left|\omega\right|} d\omega < \infty$$
⁽¹⁾

²⁰¹⁰ Mathematics Subject Classification. Primary 40A30; Secondary 42C15

Keywords. (Legendre Wavelet; Wavelet Approximation; admissibility condition; Haar Wavelet; functions of bounded derivatives.) Received: 10 October 2015; Accepted: 21 January 2017

Communicated by Dragan S. Djordjević

Email addresses: shyam_lal@rediffmail.com (Shyam Lal), vivek.jaimatadi.sharma7@gmail.com (Vivek Kumar Sharma)

then ψ is called basic wavelet. The Integral Wavelet Transform of (IWT) on $L^2(\mathbb{R})$ is defined by

$$W_{\psi}(f) = |a|^{-\frac{1}{2}} \int_{-\infty}^{\infty} f(t)\overline{\psi\left(\frac{t-b}{a}\right)} dt, \quad f \in L^{2}(\mathbb{R})$$

$$\tag{2}$$

where $a, b \in \mathbb{R}$ with $a \neq 0$. If in addition, both ψ and $\hat{\psi}$ satisfy $t\psi(t) \in L^2(\mathbb{R}), \omega\hat{\psi}(\omega) \in L^2(\mathbb{R})$ then basic wavelet ψ provides a time-frequency window with finite area given by $4\Delta\psi\Delta\hat{\psi}$. In addition, under this additional assumption, it follows that $\hat{\psi}$ is a continuous function so that the finiteness of C_{ψ} in (1) implies $\hat{\psi}(0) = 0$ or equivalently

 $\int_{-\infty}^{\infty} \psi(t) dt = 0$. This is the reason that ψ is called a Wavelet. We note that the admissibility condition (1) is needed in obtaining the inverse of the IWT.

By setting,

$$\psi_{b,a}(t) = |a|^{\frac{-1}{2}} \psi\left(\frac{t-b}{a}\right)$$
(3)

the IWT defined in (2) can be written as

$$W_{\psi}f(b,a) = \langle f, \psi_{b,a} \rangle$$

In this paper, Legendre Wavelet $\psi_{n,m}(t)$ have four argument (k, \hat{n}, m, t) , where $k = 1, 2, ..., \hat{n} = 2n - 1$, *m* is the order of Legendre polynomials and *t* is the normalized time. Legendre Wavelet defined on the interval [0, 1) by

$$\psi_{n,m}(t) = \begin{cases} \sqrt{m + \frac{1}{2}} 2^{\frac{k}{2}} L_m(2^k t - \hat{n}), & \frac{\hat{n} - 1}{2^k} \le t < \frac{\hat{n} + 1}{2^k}; \\ 0, & otherwise, \end{cases}$$

It is mentionable that $L_m(t)$ are well known Legendre polynomials of order m which are orthonormal with respect to the weight function w(t) = 1 and satisfy the following recursive formula, (i) $L_0(t) = 1$ (ii) $L_1(t) = t$ and (iii) $(m + 1)L_{m+1}(t) = (2m + 1)tL_m(t) - mL_{m-1}(t)$, where m = 1, 2, ...The set of Legendre Wavelets are an orthonormal set.

2.2. Function Approximation

 ∞

A function $f \in L^2(\mathbb{R})$ defined over [0, 1) is expanded as Legendre wavelet series in the form of

$$f(t) = \sum_{n=1}^{\infty} \sum_{m=0}^{\infty} c_{n,m} \psi_{n,m}(t), \text{ where } c_{n,m} = \langle f, \psi_{n,m} \rangle$$

$$\tag{4}$$

and $\langle ., . \rangle$ denotes the inner product.

If the infinite series in (4) is truncated then it can be written as

$$S_{2^{k-1},M}(t) = \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m}(t) = C^T \Psi(t)$$
(5)

where C and $\Psi(t)$ are $2^{k-1}M \times 1$ matrices given by

 $C = \left[c_{1,0}, c_{1,1}, \dots, c_{1,M-1}, c_{2,0}, c_{2,1}, \dots, c_{2,M-1}, \dots, c_{2^{k-1},0}, c_{2^{k-1},1}, \dots, c_{2^{k-1},M-1}\right] and$

 $\Psi(t) = \left[\psi_{1,0}(t), \psi_{1,1}(t), \dots, \psi_{1,M-1}(t), \psi_{2,0}(t), \psi_{2,1}(t), \dots, \psi_{2,M-1}(t), \dots, \psi_{2^{k-1},0}(t), \psi_{2^{k-1},1}(t), \dots, \psi_{2^{k-1},M-1}(t)\right].$

2.3. **Projection** $P_n f$

Let $P_n f$ be the orthogonal projection of $L^2(R)$ onto V_n . Then

$$P_n(f) = \sum_{k=-\infty}^{\infty} a_{n,k} \phi_{n,k}, \text{ where } a_{n,k} = \langle f, \phi_{n,k} \rangle \phi_{n,k}, n = 1, 2, 3, \dots$$

Thus

$$P_n(f) = \sum_{k=-\infty}^{\infty} \langle f, \phi_{n,k} \rangle \phi_{n,k}, \quad (Sweldens and Piessen[7])$$

2.4. Wavelet Approximation

The Wavelet Approximation under supremum norm is defined by

$$E_n(f) = ||f - P_n f||_{\infty} = Sup|f(x) - P_n f(x)|, (Zygmund[1], pp.114)$$

We define

$$||f||_p = \left\{ \int_0^1 |f(x)|^p dx \right\}^{\frac{1}{p}}, \ 1 \le p < \infty.$$

The degree of wavelet approximation $E_n(f)$ *of* f *by* $P_n(f)$ *under the norm* $||.||_p$ *is given by*

$$E_n(f) = \min_{\substack{P_n f}} ||f - P_n f||_p.$$

If $E_n(f) \to 0$ as $n \to \infty$ then $E_n(f)$ is called the best wavelet approximation of f of order n. (Zygmund [1], pp. 115)

3. Theorems

In this paper, we prove the following theorems.

Theorem 3.1. If a function $f \in L^2(\mathbb{R})$ is defined over [0, 1) such that its second derivative is bounded i.e $\sup_{t \in [0,1]} |f''(t)| \le A < \infty$ and is expanded as Legendre Wavelet series

$$f(t) = \sum_{n=1}^{\infty} \sum_{m=0}^{\infty} c_{n,m} \psi_{n,m}(t), \quad \text{where } c_{n,m} = \langle f, \psi_{n,m} \rangle.$$
(6)

Then Legendre Wavelet Approximation $E_{2^k,M}(f)$ of f by $(2^{k-1}, M)^{th}$ partial sums $S_{2^{k-1},M} = \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m}\psi_{n,m}(t)$ of its Legendre Wavelet series (6) in $L^2[0, 1]$ is given by

$$E_{2^{k},M}(f) = \left\| f - \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m}(t) \right\|_{2} = O\left(\frac{1}{2^{2^{k}} (2M-3)^{\frac{3}{2}}}\right), \quad M \ge 2$$

Theorem 3.2. Let a function $f \in L^2(R)$ be a function whose M^{th} derivative is bounded i.e $\sup_{t \in [0,1]} |f^M(t)| < \infty$ then Legendre Wavelet Approximation of f by $S_{2^{k-1},M} = \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m}(t), (2^{k-1}, M)^{th}$ partial sums of its Legendre Wavelet series is given by

$$E_{2^{k},M}(f) = \left\| f - S_{2^{k-1},M} \right\|_{2} = \left\| f - \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m}(t) \right\|_{2} = O\left(\frac{1}{M! \ 2^{Mk}}\right)$$

4. Proofs

4.1. Proof of the Theorem 3.1

Legendre Wavelet series of $f \in L^2[0, 1]$ is given by

$$f = \sum_{n=1}^{\infty} \sum_{m=0}^{\infty} c_{n,m} \psi_{n,m}$$

=
$$\sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m} + \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m} + \sum_{n=2^{k-1}+1}^{\infty} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m} + \sum_{n=2^{k-1}+1}^{\infty} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m}$$

=
$$S_{2^{k-1},M} + \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m} + \sum_{n=2^{k-1}+1}^{\infty} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m} + \sum_{n=2^{k-1}+1}^{\infty} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m}.$$
 (7)

By definition of $\psi_{n,m}$,

$$\psi_{n,m}(t) = \begin{cases} \sqrt{m + \frac{1}{2}} 2^{\frac{k}{2}} L_m(2^k t - \hat{n}), & \frac{\hat{n} - 1}{2^k} \le t < \frac{\hat{n} + 1}{2^k}; \\ 0, & otherwise, \end{cases}$$

We know that for Legendre Wavelet,

$$\frac{\hat{n}-1}{2^k} \le t < \frac{\hat{n}+1}{2^k}, \ \frac{2n-2}{2^k} \le t < \frac{2n}{2^k}.$$

If we take $n = 2^{k-1} + 1$, then

$$\frac{2(2^{k-1}+1)-2}{2^k} \le t < \frac{2(2^{k-1}+1)}{2^k}, \frac{2^k}{2^k} \le t < \frac{2^k+1}{2^k} \implies 1 \le t < 1 + \frac{1}{2^k} \forall k.$$

Since $\psi_{n,m}$ vanishes outside the interval [0, 1), therefore the third and fourth terms in (7) become zero. In this way,

$$f = S_{2^{k-1},M} + \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m}.$$

Then

$$\begin{aligned} \left\| f - S_{2^{k-1},M} \right\|_{2}^{2} &= \left\| \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m} \right\|_{2}^{2} \\ &= \left\langle \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m}, \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} c_{n,m} \psi_{n,m} \right\rangle \\ &= \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} \left| c_{n,m} \right|^{2} \left\| \psi_{n,m} \right\|_{2}^{2}, \text{ other terms vanish due to orthonormality of } \psi_{n,m}. \end{aligned}$$
(8)

Here,

$$\begin{aligned} \left\|\psi_{n,m}\right\|_{2}^{2} &= \int_{-\infty}^{\infty} \psi_{n,m}(t) \overline{\psi_{n,m}(t)} dt \\ &= \int_{\frac{h-1}{2^{k}}}^{\frac{h+1}{2^{k}}} \left\{ \left(m + \frac{1}{2}\right)^{\frac{1}{2}} 2^{\frac{k}{2}} \right\}^{2} L_{m}(2^{k}t - \hat{n}) \overline{L_{m}(2^{k}t - \hat{n})} dt \\ &= \left(m + \frac{1}{2}\right) 2^{k} \int_{\frac{h-1}{2^{k}}}^{\frac{h+1}{2^{k}}} L_{m}(2^{k}t - \hat{n}) \overline{L_{m}(2^{k}t - \hat{n})} dt \\ &= \frac{2m + 1}{2} 2^{k} \int_{\frac{h-1}{2^{k}}}^{\frac{h+1}{2^{k}}} \left|L_{m}(2^{k}t - \hat{n})\right|^{2} dt \\ &= \frac{2m + 1}{2} 2^{k} \int_{-1}^{1} |L_{m}(u)|^{2} \frac{du}{2^{k}}, \ taking 2^{k}t - \hat{n} = u \\ &= \frac{2m + 1}{2} \int_{-1}^{1} |L_{m}(u)|^{2} \ du \end{aligned}$$

= 1, by orthogonal property of Legendre polynomial and $\int_{-1}^{1} (L_m(u))^2 du = \frac{2}{2m+1}$.

Thus

$$\|\psi_{n,m}\|_{2}^{2} = 1$$
(9)

Using equation (8) and (9), we have

$$\begin{aligned} \left\| f - S_{2^{k-1},M} \right\|_{2}^{2} &= \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} |c_{n,m}|^{2} \\ Next, \\ c_{n,m} &= \int_{0}^{1} f(x) \psi_{n,m} \, dx \\ &= \int_{0}^{\frac{\hat{n}+1}{2^{k}}} f(x) \left(m + \frac{1}{2} \right)^{\frac{1}{2}} 2^{\frac{k}{2}} L_{m} (2^{k}x - \hat{n}) \, dx \end{aligned}$$
(10)

$$= \int_{\frac{h-1}{2^{k}}} f(x) \left(m + \frac{1}{2}\right)^{-2} 2^{\frac{k}{2}} L_{m}(2^{k}x - \hat{n}) dx$$

$$= \int_{-1}^{\frac{h}{2^{k}}} f\left(\frac{\hat{n} + t}{2^{k}}\right) \left(\frac{2m + 1}{2}\right)^{\frac{1}{2}} 2^{\frac{k}{2}} L_{m}(t) \frac{dt}{2^{k}}, \ taking 2^{k}x - \hat{n} = t$$

$$= \left(\frac{2m + 1}{2^{k+1}}\right)^{\frac{1}{2}} \int_{-1}^{1} f\left(\frac{\hat{n} + t}{2^{k}}\right) \frac{1}{2m + 1} \frac{d}{dt} (L_{m+1}(t) - L_{m-1}(t)) dt, \ L_{m}(t) = \frac{L'_{m+1}(t) - L'_{m-1}(t)}{2m + 1}, \ m \ge 1$$

Shyam Lal, Vivek Kumar Sharma / FAAC 9 (2) (2017), 11–19

$$= \left(\frac{1}{2^{k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{d}{dt} (L_{m+1}(t) - L_{m-1}(t)) dt$$

$$= \left(\frac{1}{2^{k+1}(2m+1)}\right)^{\frac{1}{2}} \left\{ \left(f\left(\frac{\hat{n}+t}{2^{k}}\right) (L_{m+1}(t) - L_{m-1}(t))\right)_{-1}^{1} - \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{(L_{m+1}(t) - L_{m-1}(t))}{2^{k}} dt \right\},$$

integrating by parts

, intergrating by parts

$$= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \left(L_{m+1}(t) - L_{m-1}(t)\right) dt$$

$$= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) L_{m+1}(t) dt + \left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) L_{m-1}(t) dt$$

$$= I_{1} + I_{2}, say.$$
(11)

$$\begin{split} I_{1} &= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{L'_{m+2}(t) - L'_{m}(t)}{2m+3} dt, \ L_{m+1}(t) &= \frac{L'_{m+2}(t) - L'_{m}(t)}{2m+3} \\ &= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{d}{dt} \left(\frac{L_{m+2}(t) - L_{m}(t)}{2m+3}\right) dt \\ &= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \frac{1}{2m+3} \left\{ \left(f'\left(\frac{\hat{n}+t}{2^{k}}\right)(L_{m+2}(t) - L_{m}(t))\right)^{1}_{-1} - \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{1}{2^{k}} (L_{m+2}(t) - L_{m}(t)) dt \right\}, \\ &= integrating hu parts \end{split}$$

, integrating by parts

$$= -\left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \frac{1}{2m+3} \left\{ 0 - \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{1}{2^{k}} \left(L_{m+2}(t) - L_{m}(t)\right) dt \right\}$$
$$= \left(\frac{1}{2^{5k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{\left(L_{m+2}(t) - L_{m}(t)\right)}{2m+3} dt$$
(12)

Similarly,

$$I_{2} = \left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{L'_{m}(t) - L'_{m-2}(t)}{2m-1} dt, \ L_{m-1}(t) = \frac{L'_{m}(t) - L'_{m-2}(t)}{2m-1}, \ m \ge 2$$

$$= \left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f'\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{d}{dt} \left(\frac{L_{m}(t) - L_{m-2}(t)}{2m-1}\right) dt$$

$$= \left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \frac{1}{2m-1} \left\{ \left(f'\left(\frac{\hat{n}+t}{2^{k}}\right)(L_{m}(t) - L_{m-2}(t))\right)^{1}_{-1} - \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{1}{2^{k}} (L_{m}(t) - L_{m-2}(t)) dt \right\},$$
, integrating by parts

$$= \left(\frac{1}{2^{3k+1}(2m+1)}\right)^{\frac{1}{2}} \frac{1}{2m-1} \left\{ 0 - \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{1}{2^{k}} (L_{m}(t) - L_{m-2}(t)) dt \right\}$$

$$= -\left(\frac{1}{2^{5k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^{k}}\right) \frac{(L_{m}(t) - L_{m-2}(t))}{2m-1} dt.$$
(13)

16

By equation (11), (12) and (13), we have

$$c_{n,m} = \left(\frac{1}{2^{5k+1}(2m+1)}\right)^{\frac{1}{2}} \int_{-1}^{1} f''\left(\frac{\hat{n}+t}{2^k}\right) \left\{\frac{(L_{m+2}(t)-L_m(t))}{2m+3} - \frac{(L_m(t)-L_{m-2}(t))}{2m-1}\right\} dt.$$
 (14)

Thus,

$$\begin{aligned} |c_{n,m}|^{2} &= \left| \left(\frac{1}{2^{5k+1}(2m+1)} \right)^{\frac{1}{2}} \int_{-1}^{1} f'' \left(\frac{\hat{n}+t}{2^{k}} \right) \left\{ \frac{(L_{m+2}(t) - L_{m}(t))}{2m+3} - \frac{(L_{m}(t) - L_{m-2}(t))}{2m-1} \right\} dt \right|^{2} \\ &= \left(\frac{1}{2^{5k+1}(2m+1)} \right) \left| \int_{-1}^{1} f'' \left(\frac{\hat{n}+t}{2^{k}} \right) \left\{ \frac{(L_{m+2}(t) - L_{m}(t))}{2m+3} - \frac{(L_{m}(t) - L_{m-2}(t))}{2m-1} \right\} dt \right|^{2} \\ &= \left(\frac{1}{2^{5k+1}(2m+1)} \right) \left| \int_{-1}^{1} f'' \left(\frac{\hat{n}+t}{2^{k}} \right) \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} dt \right|^{2} \\ &\leq \left(\frac{1}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left| f'' \left(\frac{\hat{n}+t}{2^{k}} \right) \right|^{2} dt \int_{-1}^{1} \left| \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} \right|^{2} dt \\ &\leq \left(\frac{1}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} A^{2} dt \int_{-1}^{1} \left| \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} \right|^{2} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} \right|^{2} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)(2m-1)} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{2}}{2^{5k+1}(2m+1)} \right) \int_{-1}^{1} \left\{ \frac{(2m-1)L_{m+2}(t) - (4m+2)L_{m}(t) + (2m+3)L_{m-2}(t)}{(2m+3)^{2}(2m-1)^{2}} \right\} dt \\ &\leq \left(\frac{2A^{$$

$$\leq \left(\frac{2A^2}{2^{5k+1}(2m+1)}\right) \left(\frac{1}{(2m+3)^2(2m-1)^2}\right) \left[(2m-1)^2 \int_{-1}^{1} L_{m+2}^2(t) dt + (4m+2)^2 \int_{-1}^{1} L_m^2(t) dt + (2m+3)^2 \int_{-1}^{1} L_{m-2}^2(t) dt\right] \\ \leq \left(\frac{2A^2}{2^{5k+1}(2m+1)}\right) \left(\frac{1}{(2m+3)^2(2m-1)^2}\right) \left[(2m-1)^2 \frac{2}{2m+5} + (4m+2)^2 \frac{2}{2m+1} + (2m+3)^2 \frac{2}{2m-3}\right] \\ \leq \left(\frac{2A^2}{2^{5k+1}(2m+1)}\right) \left(\frac{1}{(2m+3)^2(2m-1)^2}\right) \left[(2m-1)^2 \frac{2}{2m-3} + (4m+2)^2 \frac{2}{2m-3} + (2m+3)^2 \frac{2}{2m-3}\right] \\ \leq \left(\frac{2A^2}{2^{5k+1}(2m+1)}\right) \left(\frac{1}{(2m+3)^2(2m-1)^2}\right) \left[\frac{12(2m+3)^2}{(2m-3)}\right] \\ \leq \left(\frac{2A^2}{2^{5k+1}(2m+1)}\right) \left(\frac{1}{(2m+3)^2(2m-1)^2}\right) \left[\frac{12(2m+3)^2}{(2m-3)}\right]$$

Hence,

$$\begin{aligned} \left|c_{n,m}\right|^{2} &\leq \frac{24A^{2}}{2^{5k+1}(2m+1)(2m-1)^{2}(2m-3)} \\ &\leq \frac{12A^{2}}{2^{5k}(2m-3)^{4}}, \ m \geq 2. \end{aligned}$$
(15)

By equation (9) and (15), we have

$$\begin{aligned} \left\| f - S_{2^{k-1},M} \right\|_{2}^{2} &\leq \sum_{n=1}^{2^{k-1}} \sum_{m=M}^{\infty} \frac{12A^{2}}{(2m-3)^{4}} \frac{1}{2^{5k}} \\ &\leq \frac{12A^{2}}{2^{4k+1}(2M-3)^{3}}, \ M \geq 2. \end{aligned}$$
(16)

Hence,

$$\left\| f - S_{2^{k-1},M} \right\|_2 = O\left(\frac{1}{(2M-3)^{\frac{3}{2}}2^{2k}}\right), M \ge 2$$

Thus, this theorem (3.1) is completely established.

4.2. Proof of the Theorem (3.2)

A function f is M times differentiable therefore by Taylor's expansion, we have

$$f(a+h) = f_{M+1} = f(a) + \frac{h}{1!}f'(a) + \dots + \frac{h^{M-1}}{(M-1)!}f^{(M-1)}(a) + \frac{h^M}{M!}f^{(M)}(a+\theta h)$$

$$f_{M+1} = f_M + \frac{h^M}{M!}f^M(a+\theta h), \text{ where } 0 < \theta < 1 \text{ and } f_M = f(a) + \frac{h}{1!}f'(a) + \dots + \frac{h^{M-1}}{(M-1)!}f^{(M-1)}(a)$$

Then,

$$f_{M+1} - f_M = \frac{h^M}{M!} f^M(a + \theta h), \text{ where } 0 < \theta < 1.$$

Using this and dividing the interval [0, 1] in $\left[\frac{l}{2^k}, \frac{l+1}{2^k}\right]$ subintervals, we have,

$$\begin{split} \left\| f - S_{2^{k-1},M} \right\|_{2}^{2} &= \int_{0}^{1} \left| f(x) - \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m} \right|^{2} dx \\ &= \sum_{l=0}^{2^{k}-1} \int_{\frac{1}{2^{k}}}^{\frac{l+1}{2^{k}}} \left| f(x) - \sum_{n=1}^{2^{k-1}} \sum_{m=0}^{M-1} c_{n,m} \psi_{n,m} \right|^{2} dx \\ &\leq \sum_{l=0}^{2^{k}-1} \int_{\frac{1}{2^{k}}}^{\frac{l+1}{2^{k}}} \left(\frac{1}{M!} \left(\frac{1}{2^{k}} \right)^{M} \sup_{x \in [0,1]} \left| f^{(M)}(x) \right| \right)^{2} dx \\ &= \int_{0}^{1} \left(\frac{1}{M!} \left(\frac{1}{2^{k}} \right)^{M} \sup_{x \in [0,1]} \left| f^{(M)}(x) \right| \right)^{2} dx \\ &= \left(\frac{1}{M!} \right)^{2} \left(\frac{1}{2^{Mk}} \right)^{2} \sup_{x \in [0,1]} \left| f^{(M)}(x) \right|^{2} \end{split}$$

Shyam Lal, Vivek Kumar Sharma / FAAC 9 (2) (2017), 11-19

$$\left\|f - S_{2^{k-1},M}\right\|_{2}^{2} \leq \left(\frac{1}{M!}\frac{1}{2^{Mk}}\right)^{2} \sup_{x \in [0,1]} \left|f^{(M)}(x)\right|^{2}$$

Hence,

$$\|f - S_{2^{k-1},M}\|_2 \le \left(\frac{1}{M!}\frac{1}{2^{Mk}}\right) \sup_{x \in [0,1]} |f^{(M)}(x)|$$

Therefore,

$$E_{2^{k},M}(f) = \left\| f - S_{2^{k-1},M} \right\|_{2} \leq \left(\frac{1}{M!} \frac{1}{2^{Mk}} \right) \sup_{x \in [0,1]} \left| f^{(M)}(x) \right| = O\left(\frac{1}{M! 2^{Mk}} \right).$$

Hence, this has been proved.

5. Conclusions

Since $M! 2^{Mk} \ge (2M-3)^{\frac{3}{2}} 2^{2k}$, $M \ge 2$. Therefore $\frac{1}{M! 2^{Mk}} \le \frac{1}{(2M-3)^{\frac{3}{2}} 2^{2k}}$, $M \ge 2$. Thus, estimate of a function having more bounded derivative is better and sharper than the function of less bounded derivative.

6. Remarks

In the Theorem(3.1),

$$E_{2^{k},M}(f) = O\left(\frac{1}{2^{2k} (2M-3)^{\frac{3}{2}}}\right) = \frac{C_{1}}{2^{2k} (2M-3)^{\frac{3}{2}}} \to 0 \text{ as } k \to \infty, \ M \to \infty$$

and also in Theorem(3.2),

$$E_{2^k,M}(f) = O\left(\frac{1}{M! \ 2^{Mk}}\right) = \frac{C_2}{M! \ 2^{Mk}} \to 0 \text{ as } k \to \infty, \ M \to \infty,$$

where C_1 and C_2 are positive constants.

Therefore, Legendre Wavelet approximation estimated is best possible in each of the Theorems (3.1) and (3.2).

7. Aknowledgements

Shyam Lal, one of the authors, is thankful to D.S.T(CIMS) for encouragement to this work.

Vivek Kumar Sharma, one of the authors, is grateful to U.G.C, New Delhi, India for providing financial assistance in the form of Junior Research Fellowship (JRF) vide letter no. 21.06.2015(i)EU - V(Dated - 05/01/2016). Authors are grateful to the referee for recommending this paper for publication in present form.

References

- [1] A. Zygmund, Trigonometric Series, (Volume I), Cambridge University Press(1959).
- [2] L.Debnath, Wavelet Transform and their applications, Birkhauser Bostoon, Massachusetts(2002).
- [3] Y.Meyer, Wavelets, their past and their future, Progress in Wavelet Analysis and Applications (Toulouse, Y.Meyer and S.Roques, eds) Frontieres, Gif-sur-Yvette(1992-93), pp. 9-18.
- [4] J.Morlet, G Arens, E.Fourgeau, and D.Giard, Wave propagation and sampling theory, part I; Complex signal and scattering in multilayer media, Geophysics 47(1982), no. 2, 203-221.
- [5] J.Morlet, G. Arens, E.Fourgeau, and D.Giard, Wave propagation and sampling theory, part II; sampling theory and complex waves, Geophysics 47(1982), no. 2, 222–236.
- [6] Shyam Lal & and Susheel Kumar, *Best Wavelet Approximation of functions belonging to Generalized Lipschitz class using Haar scaling function*, Thai Journal of Mathematics(In press).
- [7] Sweldens Wim and Piessens Robert, Robert Quadrature Formulae and Asymptotic Errors Expansions for Wavelet Approximation of smooth functions, SIAM J. Numer. ANAL., Vol. 31(1994.), no-4, pp. 1240–1264.
- [8] R. A. Devore, Nonlinear approximation, Acta Numerica, Vol. 7, Cambridge University, Cambridge(1998), pp. 51-150.